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=~ BEKR or R i AL 3R > 4250 (van der Waals equation of state )
RT a

Va—b oy,

He PLRS STLERER  RLFHTIK (gasconstant) =8.314J)- K ! -
mol '=0.08314 dm? - bar - K- - mol » Vm 5 % B 84 > a=0.060 bar
dm® - mol?> b=0.060dm* - mol™ > 2% /i 48 A 12 18 5 R iX 2 T ch e 84
# % L c9=15R=12.471J - K1 - mol?

% % PR (external pressure) %3+ % 1.00 bar #£ &= > 1.0 mol 3%/ %8 o

300K » 1.00dm3 5.4 #r3g % 1 1.00bar P& % sedg st 5 10.00dm3 > 3 &
G ALB ISR R A E (heat)~ i¥# & (work)~ p s v £ (internal
energy change ) AU - (25 4 )

S R FALFTBEAL - Bo%F BA+BOP F BB b b
(y AW ¥R EAR[A]=0.1mol/L - % % B 4% ¥ 2 Jk & [B] =0.1 mol/L;
Fle— P #F AMBERERT % 1 [A]=0.025mol/L -
<—>fzéi\ﬁ f‘ﬁfﬂﬁ ¥ B o (15 4)

OFFF B A X %48 (half-life) - (10 # )

S E AR F B2AD B+3CHEAa kB pd 24 BIER[BIEF B
E%Fél&—»'%‘ll"lit"—r%b"rﬁ

Time (s) 0 600 1200 1800 2400 o
[B] (mol/L) 0 0.089 0.153 0.200 0.230 0.312

X

FAREF B2 F %8 (the order of reaction )» & :# & # #i(the reaction
rate constant) ? (25 4 )
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T (K) P (kPa) P (kPa)
340 80.0 50.0
380 150 110

OF R T ALESF B R & 360K i i+ T ke frz TR - (10 &)

OBEXPFF AL T BApR &, 21284 % (ideal solution) -
EHF AL BARICAER 0K EET AL F AT
(vapor-liquid equilibrium)> @ 4= & A &k 4p ¢ ehi B 4 5 5 048>
PRPFFALFAY DR R L F 2B AT 2 T R4 27(154)



